Individual task 4

Fredholm integral equations. Part Il

Case 1
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) =x —s; a=-1,b=1.
1.2. K(x,s) =sin(x —s); a=0,b =§ (n=23).

Build resolvent using iterated kernels for kernels:

2.1. K(x,s) = e**s; a=0b=1.
2.2. K(x,s) =sinxcoss; a=0,b= g
Individual task 4
Fredholm integral equations. Part Il
Case 2

Find the iterated kernels with given values a and b for kernels:
1.1. K(x,8) = (x — s)%; a=-1,b=1(n=23).

1.2. K(x,s) =x+sins; a=-mb=nm.
Build resolvent using iterated kernels for kernels:
2.1. K(x,s) =x-¢e5; a=-1,b=1.
22. K(x,s) =1 +x)(1 —5s); a=-1,b=0.
Individual task 4
Fredholm integral equations. Part Il
Case 3
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) = x e5; a=0b=1.
1.2. K(x,s) = e* coss; a=0,b=m.
Build resolvent using iterated kernels for kernels:
2.1. K(x,s) = x?s%; a=-1b=1.
22. K(x,s) =(x-s—5s); a=0,b=1.
Individual task 4
Fredholm integral equations. Part Il
Case 4
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) =x —s; a=-1,b=1.
1.2. K(x,s) = e* coss; a=0,b=m.

Build resolvent using iterated kernels for kernels:
2.1. K(x,s) =sinxcoss + cos2xsin2s; a=0,b = 2m.
22. K(x,s) =14+ (2x—-1)-(2s - 1); a=0,b=1.

Individual task 4

Fredholm integral equations. Part Il

Case 5
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) = 1f52 a=0,b=1.
1.2. K(x,s) = x e5; a=0b=1.
Build resolvent using iterated kernels for kernels:
2.1. K(x,s) = e**s; a=0b=1.
22. K(x,s) =1+ (2x—-1)-(2s—1); a=0,b=1.




Individual task 4

Fredholm integral equations. Part Il
Case 6
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) =sin(x —s); a=0,b =§ (n =23).

1.2. K(x,s) =xe5; a=0,b=1.
Build resolvent using iterated kernels for kernels:
1.1. K(x,s) = e**s; a=0b=1.
1.2. K(x,s) =x"-s; a=0b=1.
Individual task 4
Fredholm integral equations. Part Il
Case 7

Find the iterated kernels with given values a and b for kernels:
1.1. K(x,5) = (x — 5)?; a=-1,b=1(n=23).

1.2. K(x,s) = xsins; a=0,b=m.

Build resolvent using iterated kernels for kernels:

2.1. K(x,s) = sinxcoss; a=0,b=§.
2.2. K(x,s) = x-e*~5; a=0b=1.
Individual task 4
Fredholm integral equations. Part Il
Case 8
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) = x —s; a=-1,b=1.
1.2. K(x,s) = e* coss; a=0b=m.
Build resolvent using iterated kernels for kernels:
21. K(x,s) =1+ x)(1—ys); a=-1,b=0.
2.2. K(x,s) =x-e5; a=-1,b=1.
Individual task 4
Fredholm integral equations. Part Il
Case 9

Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) =sin(x —s); a=0,b =% (n =2,3).

1.2. K(x,s) = x + sins; a=-mb=m.

Build resolvent using iterated kernels for kernels:

21. K(x,s) =1+ x)(1 —s); a=-1,b=0.
22. K(x,s) =1+ (2x—-1)-(2s—1); a=0,b=1.

Individual task 4

Fredholm integral equations. Part Il
Case 10
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) =sinxcoss +cos2xsin2s; a=0,b=2n (n=273).
1.2. K(x,s) = x%s% a=-1,b=1.
Build resolvent using iterated kernels for kernels:
21. K(x,s) =1+ x)(1—ys); a=-1,b=0.
22. K(x,s) =1+ (2x—-1)-(2s—1); a=0,b=1.



Individual task 4

Fredholm integral equations. Part Il

Case 11
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) =x —s; a=-1,b=1.
1.2. K(x,s) = x +sins; a=-mb=m.
Build resolvent using iterated kernels for kernels:
21 K(x,s)=1Q+x)(1 —5s); a=-1,b=0.
2.2. K(x,s) =sinxcoss + cos2xsin2s; a=0,b = 2m.

Individual task 4

Fredholm integral equations. Part Ill
Case 12
Find the iterated kernels with given values a and b for kernels:
1.1. K(x,s) =sin(x+s); a= —%,b =0 (n=23).
1.2. K(x,s) = x +sins; a=-mb=m.
Build resolvent using iterated kernels for kernels:

2.1. K(x,s) =sinxcoss; a=0,b=§.
22. K(x,s) =(1+x)(1—ys); a=-1,b=0.
Individual task 4
Fredholm integral equations. Part Il
Case 13

Find the iterated kernels with given values a and b for kernels:
1.1. K(x,5) = (x — )% a=-1,b=1(n=23).
1.2. K(x,s) = xsins; a=0,b=m.

Build resolvent using iterated kernels for kernels:

2.3. K(x,s) = sinxcoss; a=0b=
24. K(x,s) = x-e*5; a=0,b=



